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LÖSUNGSBLATT:	
  Kapitel	
  8–10	
  (S.	
  75–87)	
  
	
  
Beantworte	
  die	
  Fragen.	
  Das	
  hilft	
  dir,	
  den	
  Text	
  besser	
  zu	
  verstehen.	
  
	
  
Fragen	
  zum	
  Nachschauen	
  
	
  
Kreuz	
  die	
  richtigen	
  Antworten	
  an.	
  
	
  

a) Wer	
  klettert	
  auf	
  den	
  Baum,	
  um	
  die	
  Katze	
  herunterzuholen?	
  
☐	
  Jessi	
  
x	
  Tante	
  Dorothea	
  
☐	
  Frau	
  Knobloch	
  
	
  

b) Was	
  passiert,	
  als	
  sie	
  auf	
  den	
  Baum	
  klettert?	
  
☐	
  Sie	
  tut	
  sich	
  weh.	
  
☐	
  Sie	
  fällt	
  vom	
  Baum.	
  	
  
x	
  Sie	
  ist	
  festgeklemmt.	
  
	
  

c) Wer	
  kommt,	
  um	
  ihr	
  zu	
  helfen?	
  
x	
  die	
  Feuerwehr	
  	
  
☐	
  der	
  Arzt	
  	
  
☐	
  die	
  Polizei	
  
	
  

d) Was	
  macht	
  die	
  Katze?	
  (Schreib	
  1–2	
  Sätze.)	
  

Die	
  Feuerwehr	
  holt	
  sie	
  vom	
  Baum.	
  Dann	
  springt	
  sie	
  über	
  die	
  Mauer	
  und	
  ist	
  
weg.	
  	
  

	
  
Fragen	
  zum	
  Verstehen	
  	
  

a) Warum	
  meint	
  Tante	
  Dorothea,	
  dass	
  sie	
  immer	
  noch	
  gut	
  klettern	
  kann?	
  
(Schreib	
  1–2	
  Sätze.)	
  

Weil	
  sie	
  als	
  Kind	
  auf	
  jeden	
  Baum	
  geklettert	
  ist.	
  Weil	
  sie	
  damals	
  sehr	
  gut	
  
klettern	
  konnte.	
  	
  

	
  
b) Als	
  Tante	
  Dorothea	
  noch	
  ein	
  Kind	
  war,	
  kam	
  sie	
  einmal	
  nicht	
  mehr	
  von	
  einem	
  

Kirschbaum	
  herunter.	
  Warum	
  ist	
  sie	
  auf	
  den	
  Kirschbaum	
  geklettert?	
  (Schreib	
  
1–2	
  Sätze)	
  

Das	
  wird	
  im	
  Text	
  nicht	
  direkt	
  gesagt.	
  Mögliche	
  Antwort:	
  Sie	
  wollte	
  Kirschen	
  
stehlen.	
  	
  

	
  

★ 

★★	
  

nur	
  nach	
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Fragen	
  zum	
  Nachdenken	
  
Arbeitet	
  zu	
  zweit.	
  Beantwortet	
  die	
  folgende	
  Frage:	
  

Nach	
  dem	
  Abenteuer	
  im	
  Baum	
  sieht	
  Tante	
  Dorothea	
  irgendwie	
  anders	
  aus.	
  Im	
  
Text	
  steht:	
  „Ihre	
  Haare	
  sind	
  nasse	
  Strähnen,	
  ihre	
  cremefarbene	
  Hose	
  ist	
  
dreckig.	
  Aber	
  ihre	
  Nasenwurzelfalte	
  ist	
  nicht	
  mehr	
  so	
  tief.	
  Und	
  ihre	
  Lippen	
  sind	
  
nicht	
  mehr	
  so	
  verkniffen.“	
  (S.	
  85)	
  Versucht	
  zu	
  erklären,	
  warum	
  Tante	
  Dorothea	
  
nun	
  anders	
  aussieht.	
  (Schreibt	
  2–3	
  Sätze.)	
  

Hier	
  sind	
  verschiedene	
  Antworten	
  möglich.	
  Diskutiert	
  eure	
  Vorschläge	
  in	
  der	
  
Klasse.	
  

	
  

	
  
	
  

	
  

	
  

	
  


